

CERTAIN PROPERTIES OF SPIRALLIKE SAKAGUCHI TYPE FUNCTIONS CONNECTED WITH q -HYPERGEOMETRIC SERIES

SERAP BULUT*, B. SRUTHA KEERTHI AND BALAKRISHNAN SENTHIL

Abstract. We discuss the properties like coefficient estimation, subordination results and Fekete-Szegő problem for certain subclass of spirallike Sakaguchi type functions associated with q -hypergeometric series.

1. Introduction

Let \mathcal{A} be the class of all functions of the form

$$f(z) = z + a_2z^2 + a_3z^3 + \dots \quad (1)$$

which are holomorphic in the open unit disc $\mathbb{U} = \{z : |z| < 1\}$ and denote \mathcal{S} the subclass of \mathcal{A} consisting of functions that are univalent in \mathbb{U} .

A function $f \in \mathcal{A}$ is said to be in the class of α -spirallike functions of order β in \mathbb{U} which we denote $\mathcal{SP}(\alpha, \beta)$ if

$$\Re \left\{ e^{i\alpha} \frac{zf'(z)}{f(z)} \right\} > \beta \cos \alpha, \quad z \in \mathbb{U} \quad (2)$$

for $0 \leq \beta < 1$ and some real α with $-\frac{\pi}{2} < \alpha < \frac{\pi}{2}$.

The class $\mathcal{SP}(\alpha, \beta)$ was studied by Libera [1] and Keogh and Merkes [2]. Note that $\mathcal{SP}(\alpha, 0)$ is the class of spirallike functions introduced by Spacek [3], $\mathcal{SP}(0, \beta) = S^*(\beta)$ is the class of starlike functions of order β and $\mathcal{SP}(0, 0) = S^*$ is the class of starlike functions.

Let \mathcal{B} be the class of analytic functions $\omega \in \mathcal{A}$ that satisfy the conditions $\omega(0) = 0$ and $|\omega(z)| < 1$, for $|z| < 1$.

For functions $f, g \in \mathcal{A}$ given by (1) we define its Hadamard product by

$$(f * g)(z) = z + a_2b_2z^2 + a_3b_3z^3 + \dots, \quad z \in \mathbb{U}. \quad (3)$$

Mathematics subject classification (2010): 30C45.

Keywords and phrases: Analytic functions, univalent functions, starlike functions, convex functions, spirallike functions, q -hypergeometric series, q -difference operator, Hadamard product, subordinating factor sequence, Fekete-Szegő problem.

* Corresponding author.

Jackson [4] reintroduced and started a systematic study of the q -difference operator. Namely, by him for $q \in (0, 1)$, the Jackson's q -derivative operator or q -difference operator for a function $f \in \mathcal{A}$ is defined by

$$D_q(f(z)) = \begin{cases} \frac{f(qz) - f(z)}{qz - z}, & z \neq 0 \\ f'(0), & z = 0 \end{cases}, \tag{4}$$

which is now sometimes referred to as Euler–Jackson derivative or simply q -derivative.

For the power function $h(z) = z^n$, observe that

$$D_q(h(z)) = D_q(z^n) = \frac{1 - q^n}{1 - q} z^{n-1} =: [n]_q z^{n-1}.$$

Note that

$$\lim_{q \rightarrow 1} D_q(h(z)) = \lim_{q \rightarrow 1} [n]_q z^{n-1} = n z^{n-1} = h'(z),$$

where $h'(z)$ is the ordinary derivative and $[n]_q$ is the q -integer or basic number n .

The q -shifted factorial is defined for $a \in \mathbb{C}$ as a product of n factors by

$$(a; q)_n = \begin{cases} 1, & n = 0 \\ (1 - a)(1 - aq) \dots (1 - aq^{n-1}), & n \in \mathbb{N} := \{1, 2, \dots\} \end{cases}.$$

For further properties and applications of q -calculus one can refer to [4, 5, 6, 7, 8, 9] and to the reference cited therein.

The q -hypergeometric function is a power series in one complex variable z , which coefficients depend on l upper and m lower parameters and are built by products of q -shifted factorials. Namely,

$$\psi_m^l(a_1, \dots, a_l; b_1, \dots, b_m; q, z) = \sum_{n=0}^{\infty} \frac{(a_1; q)_n (a_2; q)_n \dots (a_l; q)_n}{(q; q)_n (b_1; q)_n \dots (b_m; q)_n} \left[(-1)^n q^{\binom{n}{2}} \right]^{1+m-l} z^n.$$

Here $b_j \neq 0, -1, -2, \dots; j = 1, 2, \dots, m$ and $q \neq 0, l > m + 1, l, m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$, while $z \in \mathbb{U}$. For $q \in (0, 1)$ and $l = m + 1$, the q -hypergeometric series takes the form

$$\psi_m^{m+1}(a_1, \dots, a_{m+1}; b_1, \dots, b_m; q, z) = \sum_{n=0}^{\infty} \frac{(a_1; q)_n (a_2; q)_n \dots (a_{m+1}; q)_n}{(q; q)_n (b_1; q)_n \dots (b_m; q)_n} z^n,$$

which converges absolutely in the open unit disk \mathbb{U} .

Now, for functions $f \in \mathcal{A}$ and for real a, b parameters we introduce the linear operator $\mathcal{F}_m^{m+1}(q, z) : \mathcal{A} \mapsto \mathcal{A}$ in the form

$$\begin{aligned} \mathcal{F}_m^{m+1}(q, z) &= z \psi_m^{m+1}(a_1, a_2, \dots, a_{m+1}; b_1, b_2, \dots, b_m; q, z) \\ &= z + \sum_{n=2}^{\infty} \frac{(a_1; q)_{n-1} (a_2; q)_{n-1} \dots (a_{m+1}; q)_{n-1}}{(q; q)_{n-1} (b_1; q)_{n-1} \dots (b_m; q)_{n-1}} z^n \\ &= z + \sum_{n=2}^{\infty} \phi_m^{m+1}(n, q) z^n, \end{aligned}$$

where

$$\varphi_m^{m+1}(n, q) = \frac{(a_1; q)_{n-1}(a_2; q)_{n-1} \cdots (a_{m+1}; q)_{n-1}}{(q; q)_{n-1}(b_1; q)_{n-1} \cdots (b_m; q)_{n-1}}. \tag{5}$$

Throughout our study for $f \in \mathcal{A}$, we write

$$\mathcal{F}_q f(z) = \mathcal{F}_m^{m+1}(q, z) * f(z) = z + \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) a_n z^n. \tag{6}$$

From (4) and (6), we get

$$D_q[\mathcal{F}_q f(z)] = 1 + \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) [n]_q a_n z^{n-1} \tag{7}$$

where $\varphi_m^{m+1}(n, q)$ is given by (5).

Making use of the generalized q -hypergeometric differential operator $\mathcal{F}_q f(z)$, we introduce a new subclass of spirallike functions as follows.

DEFINITION 1. For $0 \leq \lambda \leq 1$, $0 \leq \beta < 1$ and $-\frac{\pi}{2} < \alpha < \frac{\pi}{2}$, $|t| \leq 1$, $t \neq 1$, we let $\mathcal{H}_q(\alpha, \beta, \lambda, t)$ be the subclass of \mathcal{A} consisting of functions $f \in \mathcal{A}$ of the form (1) and satisfying the analytic condition:

$$\Re \left\{ \frac{e^{i\alpha} [(1-t)z]^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} \right\} > \beta \cos \alpha, \quad z \in \mathbb{U},$$

where $D_q[\mathcal{F}_q f(z)]$ is given by (7).

EXAMPLE 1. For $t = 0$, we let $\mathcal{H}_q(\alpha, \beta, \lambda, 0) = \mathcal{S}\mathcal{P}_q(\alpha, \beta, \lambda)$ be the subclass of \mathcal{A} consisting of functions $f \in \mathcal{A}$ of the form (1) and satisfying the analytic condition:

$$\Re \left\{ \frac{e^{i\alpha} z^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z)]^{1-\lambda}} \right\} > \beta \cos \alpha, \quad z \in \mathbb{U},$$

where $D_q[\mathcal{F}_q f(z)]$ is given by (7).

EXAMPLE 2. For $\lambda = 0$ and $t = 0$, we let $\mathcal{H}_q(\alpha, \beta, 0, 0) = \mathcal{S}\mathcal{P}_q(\alpha, \beta)$ be the subclass of \mathcal{A} consisting of functions $f \in \mathcal{A}$ of the form (1) and satisfying the analytic condition:

$$\Re \left\{ \frac{e^{i\alpha} z D_q[\mathcal{F}_q f(z)]}{\mathcal{F}_q f(z)} \right\} > \beta \cos \alpha, \quad z \in \mathbb{U}, \tag{8}$$

where $D_q[\mathcal{F}_q f(z)]$ is given by (7).

EXAMPLE 3. For $\lambda = 1$, we let $\mathcal{H}_q(\alpha, \beta, 1, t) = \mathcal{S}\mathcal{P}_q(\alpha, \beta, t)$ be the subclass of \mathcal{A} consisting of functions $f \in \mathcal{A}$ of the form (1) and satisfying the analytic condition:

$$\Re \{ e^{i\alpha} D_q[\mathcal{F}_q f(z)] \} > \beta \cos \alpha, \quad z \in \mathbb{U}, \tag{9}$$

where $D_q[\mathcal{F}_q f(z)]$ is given by (7).

EXAMPLE 4. For $\lambda = 1$ and $\alpha = 0$, we let $\mathcal{H}_q(0, \beta, 1, t) = \mathcal{S}\mathcal{P}_q(\beta, t)$ be the subclass of \mathcal{A} consisting of functions $f \in \mathcal{A}$ of the form (1) and satisfying the analytic condition:

$$\Re \{D_q[\mathcal{F}_q f(z)]\} > \beta, \quad z \in \mathbb{U},$$

where $D_q[\mathcal{F}_q f(z)]$ is given by (7).

The motivation of the current work is to examine the coefficient estimates and subordination properties for the class of functions $\mathcal{H}_q(\alpha, \beta, \lambda, t)$. Related consequences of the earned results are also presented.

Throughout this paper, unless otherwise stated, we assume that

$$0 \leq \lambda \leq 1, \quad 0 \leq \beta < 1, \quad -\frac{\pi}{2} < \alpha < \frac{\pi}{2}, \quad |t| \leq 1, \quad t \neq 1.$$

2. Coefficient estimates

In this section we obtain sufficient conditions for a function $f \in \mathcal{A}$ belonging to the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$.

THEOREM 1. Let $f \in \mathcal{A}$ and let σ be a real number with $0 \leq \sigma < 1$. If

$$\left| \frac{[(1-t)z]^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} - 1 \right| \leq 1 - \sigma, \quad z \in \mathbb{U}, \tag{10}$$

then $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$, provided that $|\alpha| \leq \cos^{-1} \left(\frac{1-\sigma}{1-\beta} \right)$.

Proof. From (10), it follows that

$$\frac{[(1-t)z]^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} = (1 - \sigma)w(z) + 1,$$

where $w(z) \in \mathcal{B}$. We have

$$\begin{aligned} \Re \left\{ e^{i\alpha} \frac{[(1-t)z]^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} \right\} &= \Re \{ e^{i\alpha} (1 - \sigma)w(z) + e^{i\alpha} \} \\ &= (1 - \sigma)\Re \{ e^{i\alpha} w(z) \} + \cos \alpha \geq -(1 - \sigma)|e^{i\alpha} w(z)| + \cos \alpha \\ &= -(1 - \sigma) + \cos \alpha = \beta \cos \alpha, \end{aligned}$$

provided $|\alpha| \leq \cos^{-1} \left(\frac{1-\sigma}{1-\beta} \right)$. Thus the proof is completed. \square

COROLLARY 1. Let $f \in \mathcal{A}$ and assume $\sigma = 1 - (1 - \beta)\cos\alpha$. If

$$\left| \frac{[(1-t)z]^{1-\lambda} D_q[\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} - 1 \right| \leq (1 - \beta)\cos\alpha, \quad z \in \mathbb{U}, \tag{11}$$

then $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$.

Now, we present another sufficient condition for $f \in \mathcal{A}$ to be in $\mathcal{H}_q(\alpha, \beta, \lambda, t)$.

THEOREM 2. *A function $f \in \mathcal{A}$ of the form (1) belongs to $\mathcal{H}_q(\alpha, \beta, \lambda, t)$ when*

$$\sum_{n=2}^{\infty} \{([n]_q - (1 - \lambda)u_n) \sec \alpha + (1 - \beta)(1 - \lambda)u_n\} \varphi_m^{m+1}(n, q) |a_n| \leq 1 - \beta, \quad (12)$$

where $u_n = \frac{1-t^n}{1-t}$.

Proof. In view of above Corollary 1, we have

$$\begin{aligned} \left| \frac{[(1-t)z]^{1-\lambda} \left\{ 1 + \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) a_n [n]_q z^{n-1} \right\}}{[(1-t)z]^{1-\lambda} \left\{ 1 + \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) a_n u_n z^{n-1} \right\}^{1-\lambda}} - 1 \right| &\leq (1 - \beta) \cos \alpha \\ \left| \frac{1 + \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) a_n [n]_q z^{n-1}}{1 + (1 - \lambda) \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) a_n u_n z^{n-1}} - 1 \right| &\leq (1 - \beta) \cos \alpha \\ \frac{\sum_{n=2}^{\infty} ([n]_q - (1 - \lambda)u_n) \varphi_m^{m+1}(n, q) |a_n|}{1 - \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) (1 - \lambda)u_n |a_n|} &\leq (1 - \beta) \cos \alpha, \end{aligned}$$

that is,

$$\sum_{n=2}^{\infty} ([n]_q - (1 - \lambda)u_n) \varphi_m^{m+1}(n, q) |a_n| \leq (1 - \beta) \cos \alpha \left\{ 1 - \sum_{n=2}^{\infty} \varphi_m^{m+1}(n, q) (1 - \lambda)u_n |a_n| \right\},$$

which means

$$\sum_{n=2}^{\infty} \{([n]_q - (1 - \lambda)u_n) \sec \alpha + (1 - \beta)(1 - \lambda)u_n\} \varphi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

Thus the proof is completed. \square

COROLLARY 2. *A function $f \in \mathcal{A}$ of the form (1) is in $\mathcal{S P}_q(\alpha, \beta, \lambda)$ if*

$$\sum_{n=2}^{\infty} \{([n]_q - 1 + \lambda) \sec \alpha + (1 - \beta)(1 - \lambda)\} \varphi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

if **COROLLARY 3.** *The function $f \in \mathcal{A}$ of the form (1) is in the class $\mathcal{S P}_q(\alpha, \beta)$,*

$$\sum_{n=2}^{\infty} \{([n]_q - 1) \sec \alpha + (1 - \beta)\} \varphi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

COROLLARY 4. *The function $f \in \mathcal{A}$ of the form (1) is in $\mathcal{S P}_q(\alpha, \beta, t)$ if*

$$\sum_{n=2}^{\infty} [n]_q \sec \alpha \varphi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

COROLLARY 5. The function $f \in \mathcal{A}$ of the form (1) belongs to $\mathcal{SP}_q(\beta, t)$ if,

$$\sum_{n=2}^{\infty} [n]_q \phi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

For the sake of brevity throughout this paper we will use the shorthand

$$d_n(\alpha, \beta, \lambda) = ([n]_q - (1 - \lambda)u_n) \sec \alpha + (1 - \beta)(1 - \lambda)u_n \tag{13}$$

Our next result gives the coefficient estimates for functions in the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$.

THEOREM 3. If $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$, then

$$|a_n| \leq \frac{1 - \beta}{d_n(\alpha, \beta, \lambda) \phi_m^{m+1}(n, q)}, \quad n = 2, 3, 4, \dots \tag{14}$$

The result is sharp for the functions $f_n(z)$ given by

$$f_n(z) = z + \frac{1 - \beta}{d_n(\alpha, \beta, \lambda) \phi_m^{m+1}(n, q)} z^n, \quad n = 2, 3, 4, \dots$$

Proof. If $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$, then we have for each $n \geq 2$,

$$d_n(\alpha, \beta, \lambda) \phi_m^{m+1}(n, q) |a_n| \leq \sum_{n=2}^{\infty} d_n(\alpha, \beta, \lambda) \phi_m^{m+1}(n, q) |a_n| \leq 1 - \beta.$$

So the estimate (14). Since

$$f_n(z) = z + \frac{1 - \beta}{d_n(\alpha, \beta, \lambda) \phi_m^{m+1}(n, q)} z^n, \quad n = 2, 3, 4, \dots$$

satisfies the conditions of Theorem 2, $f_n(z) \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ and the equality is attained for this function. \square

REMARK 1. We observe that Corollary 3 yields the result of Silverman [10] for the special values of α and β .

3. Subordination results

In order to obtain subordination results for the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$, we need the following definitions and the lemma due to Wilf [11].

DEFINITION 2. Let $g, h \in \mathcal{A}$. The function g is said to be subordinate to the function h , denoted by $g \prec h$, if there exists a function $\omega \in \mathcal{B}$ such that $g(z) = h(\omega(z))$, for all $z \in \mathbb{U}$.

DEFINITION 3. Let \mathcal{C} be the subclasses of \mathcal{S} consisting of convex function, defined analytically the equivalences

$$f \in \mathcal{C} \iff \Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > 0.$$

DEFINITION 4. [11] A sequence $\{c_n\}_{n=1}^\infty$ of complex numbers is said to be a subordinating factor sequence if, whenever

$$g(z) = z + \sum_{n=2}^\infty b_n z^n$$

is regular, univalent and convex in \mathbb{U} , we have

$$\sum_{n=1}^\infty b_n c_n z^n \prec g(z), \quad z \in \mathbb{U}. \tag{15}$$

LEMMA 1. [11] *The sequence $\{c_n\}_{n=1}^\infty$ is a subordinating factor sequence iff*

$$\Re \left\{ 1 + 2 \sum_{n=1}^\infty c_n z^n \right\} > 0, \quad z \in \mathbb{U}. \tag{16}$$

THEOREM 4. *Let $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ and $g \in \mathcal{C}$, then*

$$\frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} (f * g)(z) \prec g(z), \tag{17}$$

where

$$d_2(\alpha, \beta, \lambda) = \{[2]_q - (1 - \lambda)u_2\} \sec \alpha + (1 - \beta)(1 - \lambda)u_2 \tag{18}$$

and

$$\Re\{f(z)\} > -\frac{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}, \quad z \in \mathbb{U}. \tag{19}$$

The constant factor $\frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}}$ in (17) cannot be replaced by a larger number.

Proof. Let $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ satisfy the coefficient inequality (12) and suppose that $g(z) = z + \sum_{n=2}^\infty b_n z^n \in \mathcal{C}$. Then by Definition 4, the subordination (17) of our theorem will hold true if the sequence

$$\left\{ \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} a_n \right\}_{n=1}^\infty$$

is a subordinating factor sequence, with $a_1 = 1$. By Lemma 1, it is evident to prove

$$\Re \left\{ 1 + 2 \sum_{n=1}^{\infty} \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} a_n z^n \right\} > 0$$

In view of (12), where $|z| = r < 1$, we obtain

$$\begin{aligned} & \Re \left\{ 1 + \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} \sum_{n=1}^{\infty} a_n z^n \right\} \\ & \geq 1 - \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)} \left| \sum_{n=1}^{\infty} a_n z^n \right| \\ & = 1 - \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)} r - \frac{\sum_{n=2}^{\infty} d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q) |a_n| r}{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)} \\ & = 1 - \frac{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)} r > 0. \end{aligned}$$

Hence, equation (17) holds. Now, the inequality (19) follows from (17) by taking

$$g(z) = \frac{z}{1-z} = z + \sum_{n=2}^{\infty} z^n \in \mathcal{C}. \text{ Therefore, we get}$$

$$\begin{aligned} & \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} f(z) \prec g(z) \\ & \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} \Re\{f(z)\} > \Re\{g(z)\} \\ & \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} \Re\{f(z)\} > -\frac{1}{2} \end{aligned}$$

which implies (19). The sharpness of the multiplying factor in (17) can be established by considering a function

$$F(z) = z - \frac{1 - \beta}{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)} z^2.$$

Clearly $F \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$. By (17), we infer that

$$\frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} (F * g)(z) \prec \frac{z}{1-z}$$

and it follows that,

$$\min \left[\Re \left\{ \frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}} F(z) \right\} \right] = -\frac{1}{2}, \quad z \in \mathbb{U}$$

This shows that the constant $\frac{d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)}{2\{1 - \beta + d_2(\alpha, \beta, \lambda) \varphi_m^{m+1}(2, q)\}}$ cannot be replaced by any larger one. \square

In view of Examples 2 and 3, we state the following corollaries for the Theorem 4.

COROLLARY 6. If $f \in \mathcal{S} \mathcal{P}_q(\alpha, \beta)$ and $g \in \mathcal{C}$, then

$$\frac{[q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)}{2\{1 - \beta + [q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)\}} (f * g)(z) \prec g(z) \tag{20}$$

where

$$\Re\{f(z)\} > -\frac{1 - \beta + [q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)}{[q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)}, \quad z \in \mathbb{U}.$$

The constant factor $\frac{[q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)}{2\{1 - \beta + [q \sec \alpha + (1 - \beta)] \varphi_m^{m+1}(2, q)\}}$ in (20) cannot be replaced by a larger one.

COROLLARY 7. If $f \in \mathcal{S} \mathcal{P}_q(\alpha, \beta, t)$ and $g \in \mathcal{C}$, then

$$\frac{(1 + q) \sec \alpha \varphi_m^{m+1}(2, q)}{2\{1 - \beta + (1 + q) \sec \alpha \varphi_m^{m+1}(2, q)\}} (f * g)(z) \prec g(z) \tag{21}$$

where

$$\Re\{f(z)\} > -\frac{1 - \beta + (1 + q) \sec \alpha \varphi_m^{m+1}(2, q)}{(1 + q) \sec \alpha \varphi_m^{m+1}(2, q)}, \quad z \in \mathbb{U}.$$

The constant factor $\frac{(1 + q) \sec \alpha \varphi_m^{m+1}(2, q)}{2\{1 - \beta + (1 + q) \sec \alpha \varphi_m^{m+1}(2, q)\}}$ in (21) cannot be replaced by a larger one.

4. The Fekete-Szegő problem

The Fekete-Szegő consists form deriving sharp upper bounds for the functional $|a_3 - \mu a_2^2|$ for various subclasses of \mathcal{A} (see [12, 13]). In order to obtain sharp upper bounds for $|a_3 - \mu a_2^2|$ for the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$ the following lemma is required (see, eg. [14, p. 108]).

LEMMA 2. Let the function $\omega \in \mathcal{B}$ be given by

$$\omega(z) = \sum_{n=1}^{\infty} \omega_n z^n, \quad z \in \mathbb{U}. \tag{22}$$

Then $|\omega_1| \leq 1$, $|\omega_2| \leq 1 - |\omega_1|^2$ and

$$|\omega_2 - s \omega_1^2| \leq \max\{1, |s|\} \tag{23}$$

for any complex number s . The function $\omega(z) = z$ and $\omega(z) = z^2$ or one of their rotations show that both inequalities (22) and (23) are sharp.

For the constants α, β , with $0 \leq \beta < 1$ and $|\alpha| < \frac{\pi}{2}$ denote

$$p_{\alpha, \beta}(z) = \frac{1 + e^{-i\alpha}[e^{-i\alpha} - 2\beta \cos \alpha]z}{1 - z}, \quad z \in \mathbb{U}. \tag{24}$$

The function $p_{\alpha, \beta}(z)$ maps the open unit disk onto the half-plane

$$H_{\alpha, \beta} = \{z \in \mathbb{C} : \Re\{e^{i\alpha}z\} > \beta \cos \alpha\}.$$

If $p_{\alpha, \beta}(z) = 1 + \sum_{n=1}^{\infty} p_n z^n$, then it is easy to check that

$$p_n = 2e^{-i\alpha}(1 - \beta) \cos \alpha \tag{25}$$

for all $n \geq 1$. First we obtain sharp upper bounds for the Fekete-Szegő functional $|a_3 - \mu a_2^2|$ with μ real parameter.

THEOREM 5. *Let $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ be given by (1) and let μ be a real number. Then*

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2(1-\beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, q)} \left[\frac{2(1-\beta)(1-\lambda)u_2 \psi_2(\frac{\lambda}{2})}{[\psi_2(\lambda)]^2} - \frac{2\mu(1-\beta) \psi_3(\lambda) \phi_m^{m+1}(3, q)}{[\psi_2(\lambda)]^2 [\phi_m^{m+1}(2, q)]^2} + 1 \right] & \text{if } \mu \leq \delta_1 \\ \frac{2(1-\beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, q)} & \text{if } \delta_1 \leq \mu \leq \delta_2 \\ \frac{2(1-\beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, q)} \left[\frac{2\mu(1-\beta) \psi_3(\lambda) \phi_m^{m+1}(3, q)}{[\psi_2(\lambda)]^2 [\phi_m^{m+1}(2, q)]^2} - \frac{2(1-\beta)(1-\lambda)u_2 \psi_2(\frac{\lambda}{2})}{[\psi_2(\lambda)]^2} - 1 \right] & \text{if } \mu \geq \delta_2 \end{cases} \tag{26}$$

where

$$\delta_1 = \frac{(1 - \lambda)u_2[1 + q - (1 - \lambda)u_2] [\phi_m^{m+1}(2, q)]^2}{[1 + q + q^2 - (1 - \lambda)u_3] \phi_m^{m+1}(3, q)}, \tag{27}$$

$$\delta_2 = \frac{[1 + q - (1 - \lambda)u_2][1 + q - (1 - \lambda)\beta u_2] [\phi_m^{m+1}(2, q)]^2}{(1 - \beta)[1 + q + q^2 - (1 - \lambda)u_3] \phi_m^{m+1}(3, q)}, \tag{28}$$

$$q_n = \frac{1 - q^n}{1 - q} = 1 + q + q^2 + \dots + q^{n-1}, \tag{29}$$

$$\psi_n(\lambda) = [q_n - (1 - \lambda)u_n], \quad \text{for } n = 2, 3 \tag{30}$$

and $\phi_m^{m+1}(2, q)$, $\phi_m^{m+1}(3, q)$ are defined by (5) with $n = 2$ and $n = 3$, respectively. All estimates are sharp.

Proof. Suppose that $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ is given by (1). Then, from the definition of the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$, there exists $\omega \in \mathcal{B}$, $\omega(z) = \omega_1 z + \omega_2 z^2 + \omega_3 z^3 + \dots$ such that

$$\frac{[(1-t)z]^{1-\lambda} D_q [\mathcal{F}_q f(z)]}{[\mathcal{F}_q f(z) - \mathcal{F}_q f(tz)]^{1-\lambda}} = p_{\alpha, \beta}(\omega(z)) = 1 + p_1 z + p_2 z^2 + \dots, \quad z \in \mathbb{U}. \tag{31}$$

From (25) we have

$$p_1 = p_2 = 2e^{-i\alpha}(1 - \beta) \cos \alpha.$$

Now LHS of (31) is given by

$$\begin{aligned} & 1 + \varphi_m^{m+1}(2, q)\{1 + q - (1 - \lambda)u_2\}a_2z \\ & + \left\{ \varphi_m^{m+1}(3, q)[1 + q + q^2 - (1 - \lambda)u_3]a_3 \right. \\ & \quad \left. - [\varphi_m^{m+1}(2, q)]^2(1 - \lambda)u_2 \left[1 + q - \frac{(2-\lambda)}{2}u_2\right] a_2^2 \right\} z^2 + \dots \\ & 1 + \varphi_m^{m+1}(2, q)\{q_2 - (1 - \lambda)u_2\}a_2z \\ & + \left\{ \varphi_m^{m+1}(3, q)[q_3 - (1 - \lambda)u_3]a_3 \right. \\ & \quad \left. - [\varphi_m^{m+1}(2, q)]^2(1 - \lambda)u_2 \left[q_2 - \left(1 - \frac{\lambda}{2}\right)u_2\right] a_2^2 \right\} z^2 + \dots \\ & 1 + \varphi_m^{m+1}(2, q)\psi_2(\lambda)a_2z \\ & + \left\{ \varphi_m^{m+1}(3, q)\psi_3(\lambda)a_3 \right. \\ & \quad \left. - [\varphi_m^{m+1}(2, q)]^2(1 - \lambda)u_2\psi_2\left(\frac{\lambda}{2}\right) a_2^2 \right\} z^2 + \dots \end{aligned} \tag{32}$$

where q_n and $\psi_n(\lambda)$ are given by (29) and (30) respectively.

Equating the coefficient of z and z^2 on both sides of (31) and taking (32) in account, we obtain

$$a_2 = \frac{p_1 \omega_1}{\psi_2(\lambda) \varphi_m^{m+1}(2, q)}$$

and

$$a_3 = \frac{1}{\psi_3(\lambda) \varphi_m^{m+1}(3, q)} \left[p_1 \omega_2 + \left(p_2 + \frac{(1 - \lambda)u_2 \psi_2\left(\frac{\lambda}{2}\right)}{[\psi_2(\lambda)]^2} p_1^2 \right) \omega_1^2 \right]$$

and thus we obtain

$$a_2 = \frac{2e^{-i\alpha}(1 - \beta) \cos \alpha}{\psi_2(\lambda) \varphi_m^{m+1}(2, q)} \omega_1 \tag{33}$$

$$a_3 = \frac{2e^{-i\alpha}(1 - \beta) \cos \alpha}{\psi_3(\lambda) \varphi_m^{m+1}(3, q)} \left[\omega_2 + \left(1 + \frac{2e^{-i\alpha}(1 - \beta)(1 - \lambda)u_2 \cos \alpha \psi_2\left(\frac{\lambda}{2}\right)}{[\psi_2(\lambda)]^2} p_1^2 \right) \omega_1^2 \right] \tag{34}$$

Now

$$\begin{aligned} & |a_3 - \mu a_2^2| \\ & \leq \frac{2(1 - \beta) \cos \alpha}{\psi_3(\lambda) \varphi_m^{m+1}(3, q)} [|\omega_2| \\ & + \left| 1 + \frac{2e^{-i\alpha}(1 - \beta) \cos \alpha}{[\psi_2(\lambda)]^2} \left(\psi_2\left(\frac{\lambda}{2}\right) (1 - \lambda)u_2 - \mu \psi_3(\lambda) \frac{\varphi_m^{m+1}(3, q)}{\varphi_m^{m+1}(2, q)} \right) \right| |\omega_1|^2] \\ & \leq \frac{2(1 - \beta) \cos \alpha}{\psi_3(\lambda) \varphi_m^{m+1}(3, q)} [(1 - |\omega_1|^2) + |1 + Me^{-i\alpha} \cos \alpha| |\omega_1|^2] \end{aligned}$$

where

$$M = \frac{2(1-\beta)}{[\psi_2(\lambda)]^2} \left(\psi_2 \left(\frac{\lambda}{2} \right) (1-\lambda)u_2 - \mu \psi_3(\lambda) \frac{\varphi_m^{m+1}(3,q)}{\varphi_m^{m+1}(2,q)} \right). \quad (35)$$

Now

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} [1 + (|1 + Me^{-i\alpha}\cos\alpha| - 1)|\omega_1|^2] \\ &\leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} [1 + (\sqrt{1 + M[2 + M\cos\alpha]\cos\alpha} - 1)|\omega_1|^2] \\ &=: \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} F(x,y), \quad (x,y) \in [0,1]^2, \end{aligned} \quad (36)$$

where $F(x,y) = 1 + (\sqrt{1 + M[2 + Mx]x} - 1)y^2$, $x = \cos\alpha$, $y = |\omega_1|$.

Simple calculation shows that the function $F(x,y)$ does not have a local maximum at any interior point of the open rectangle $(0,1)^2$. Thus, the maximum must be attained at the boundary point. Since $F(x,0) = 1$, $F(0,y) = 1$ and $F(1,1) = |1 + M|$, it follows that the maximal value of $F(x,y)$ may be $F(0,0) = 1$ or $F(1,1) = |1 + M|$. So,

$$|a_3 - \mu a_2^2| \leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} \max\{1, |1 + M|\}. \quad (37)$$

Case 1: If $\mu \leq \delta_1$, where δ_1 is given by (27), then $M \geq 0$ implies $|1 + M| \geq 1$. Now from (37) we get

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} \\ &\times \left[1 + \frac{2(1-\beta)(1-\lambda)u_2\psi_2\left(\frac{\lambda}{2}\right)}{[\psi_2(\lambda)]^2} - \frac{2\mu(1-\beta)\psi_3(\lambda)\varphi_m^{m+1}(3,q)}{[\psi_2(\lambda)]^2[\varphi_m^{m+1}(2,q)]^2} \right] \end{aligned}$$

which is the first part of the inequality (26).

Case 2: If $\delta_1 \leq \mu \leq \delta_2$, where δ_2 is given by (28), then $|1 + M| \leq 1$, thus from (37), we obtain

$$|a_3 - \mu a_2^2| \leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)}$$

which is the second part of the inequality (26).

Case 3: If $\mu \geq \delta_2$, where δ_2 is given by (28), then $M \leq -2$ and it follows from (37)

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{2(1-\beta)\cos\alpha}{\psi_3(\lambda)\varphi_m^{m+1}(3,q)} \\ &\times \left[\frac{2\mu(1-\beta)\psi_3(\lambda)\varphi_m^{m+1}(3,q)}{[\psi_2(\lambda)]^2[\varphi_m^{m+1}(2,q)]^2} - \frac{2(1-\beta)(1-\lambda)u_2\psi_2\left(\frac{\lambda}{2}\right)}{[\psi_2(\lambda)]^2} - 1 \right], \end{aligned}$$

which is the third part of the inequality (26). \square

In view of Lemma 2, the results are sharp for $\omega(z) = z$ and $\omega(z) = z^2$ or one of their rotations.

Next, we consider the Fekete-Szegő problem for the class $\mathcal{H}_q(\alpha, \beta, \lambda, t)$ with μ complex parameter.

THEOREM 6. *Let $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$ be given by (1) and let μ be a complex number. Then,*

$$|a_3 - \mu a_2^2| \leq \frac{2(1 - \beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, \alpha)} \max\{1, |S|\}, \tag{38}$$

where

$$S = \frac{2e^{-i\alpha}(1 - \beta) \cos \alpha}{[\psi_2(\lambda)]^2} \left(\mu \psi_3(\lambda) \frac{\phi_m^{m+1}(3, q)}{[\phi_m^{m+1}(2, q)]^2} - \psi_2\left(\frac{\lambda}{2}\right) (1 - \lambda) u_2 \right) - 1. \tag{39}$$

The result is sharp.

Proof. Assume that $f \in \mathcal{H}_q(\alpha, \beta, \lambda, t)$. Making use of (31) and (32) we obtain

$$|a_3 - \mu a_2^2| \leq \frac{2(1 - \beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, \alpha)} \left| \omega_2 - \left\{ \frac{2e^{-i\alpha}(1 - \beta) \cos \alpha}{[\psi_2(\lambda)]^2} \left(-\psi_2\left(\frac{\lambda}{2}\right) (1 - \lambda) u_2 \right. \right. \right. \\ \left. \left. \left. + \mu \psi_3(\lambda) \frac{\phi_m^{m+1}(3, q)}{[\phi_m^{m+1}(2, q)]^2} \right) - 1 \right\} \omega_1^2 \right| \leq \frac{2(1 - \beta) \cos \alpha}{\psi_3(\lambda) \phi_m^{m+1}(3, \alpha)} |\omega_2 - S \omega_1^2|,$$

where S is given by (39). \square

The inequality (38) follows by applying Lemma 2.

REMARK 2. By specializing the parameter $\lambda = 0$ and $\lambda = 1$, one can state the above discussed results for function f in the subclasses defined in Example 2 and 3, respectively.

REFERENCES

[1] R. J. LIBERA, *Univalent α -spiral functions*, *Canad. J. Math.*, **19**, (1967), 449–456.
 [2] F. R. KEOGH AND E. P. MERKES, *A coefficient inequality for certain classes of analytic functions*, *Proc. Amer. Math. Soc.*, **20**, (1969), 8–12.
 [3] L. SPACEK, *Contribution a la theorie des fonctions univalentes*, *Cas. Mat. Fys.*, **62**, 2 (1932), 12–19.
 [4] F. H. JACKSON, *On q -functions and a certain difference operator*, *Trans. Royal Soc. Edinburgh*, **46**, (1908), 253–281.
 [5] A. ARAL, V. GUPTA AND R. P. AGARWAL, *Applications of q -calculus in operator theory*, Springer, New York, 2013.
 [6] S. D. PUROHIT AND R. K. RAINA, *Fractional q -calculus and certain subclasses of univalent analytic functions*, *Mathematica*, **55 (78)**, 1 (2013), 62–74.
 [7] A. MOHAMMED AND M. DARUS, *A generalized operator involving the q -hypergeometric function*, *Mat. Vesnik*, **65**, 4 (2013), 454–464.

- [8] S. MAHMOOD AND J. SOKOL, *New subclasses of analytic functions in conical domain associated with Ruscheweyh q -differential operator*, Results Math., **71**, (2017), 1345–1357.
- [9] S. ARACI, U. DURAN, M. ACIKGOZ AND H. M. SRIVASTAVA, *A certain (p, q) -derivative operator and associated divided differences*, J. Inequal. Appl., (2016) 2016:301.
- [10] H. SILVERMAN, *Sufficient conditions for spiral-likeness*, Internat. J. Math. Sci., **12**, 4 (1989), 641–644.
- [11] H. S. WILF, *Subordinating factor sequence for convex maps of the unit circle*, Proc. Amer. Math. Soc., **12**, (1961), 689–693.
- [12] H. ORHAN, D. RADUCANU, M. CAGLAR AND M. BAYRAM, *Coefficient estimates and other properties for a class of spirallike functions associated with a differential operators*, Abstr. Anal. Appl., vol. 2013, Art. ID 415319, 7 pp.
- [13] H. M. SRIVASTAVA, A. K. MISHRA AND M. K. DAS, *The Fekete-Szegő problem for a subclass of close-to-convex functions*, Complex Var. Theory Appl., **44**, (2001), 145–163.
- [14] S. KANAS AND D. RADUCANU, *Some subclass of analytic functions related to conic domains*, Math. Slovaca, **64**, 5 (2014), 1183–1196.
- [15] Z. NEHARI, *Conformal mapping*, McGraw-Hill, New-York, 1952.
- [16] ST. RUSCHEWEYH, *New criteria for univalent functions*, Proc. Amer. Math. Soc., **49**, (1975), 109–115.

(Received August 30, 2020)

Serap Bulut
 Faculty of Aviation and Space Sciences
 Kocaeli University, Arslanbey Campus
 41285 Kartepe-Kocaeli, Turkey
 e-mail: serap.bulut@kocaeli.edu.tr

B. Srutha Keerthi
 School of Advanced Sciences
 VIT University Chennai Campus
 India
 e-mail: sruthilaya06@yahoo.co.in

Balakrishnan Senthil
 Department of Mathematics
 Jerusalem College of Engineering
 Chennai, India
 and
 Research Scholar, School of Advanced Sciences
 VIT University Chennai Campus
 India
 e-mail: senkrishh@gmail.com